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QUESTION 1

How can cloud computing make a real difference to a customer\\'s business? 

A. Cloud delivers predictable monthly CAPEX charges which allow many businesses to more easily manage their IT
budgets based on known costs and their changing compute demand 

B. Cloud environments offer high availability by default meaning that migration to cloud will immediately solve any
issues the business has had with application downtime 

C. Cloud makes it possible for businesses to greatly decrease the time from decision to value by enabling the ability to
experiment, learn, and fail fast, without large amounts of upfront capital 

D. Cloud vendors sell annual hardware hosting contracts to tens of thousands of customers and can discount heavily
due to economies of scale meaning cloud is inexpensive 

Correct Answer: A 

 

QUESTION 2

What is a resource group in IBM Cloud? 

A. Application resources that have been placed in the same zone 

B. A container for resources to which access privileges can be assigned 

C. A set of provisioned services labeled with the same tag 

D. A group of resources that can be created on demand using a Teraform script 

Correct Answer: D 

 

QUESTION 3

Which type of database would be appropriate for a high transaction database? 

A. graph 

B. relational 

C. document 

D. key-value 

Correct Answer: A 

 

QUESTION 4

What is a challenge of Serverless Cloud Computing in low-latency financial applications? 
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A. Containers may need to cold start resulting in delays 

B. Serverless containers cannot record the logs required for financial auditing 

C. Long processing transactions can have hidden direct and indirect costs 

D. Requires new security paradigms and best practices 

Correct Answer: D 

 

QUESTION 5

What was the earliest implementation of cloud computing? 

A. Selling unused time slices 

B. LAN parties and cyber cafes 

C. Indexing large data sets across universities 

D. Providing compute resources for complex problems such as protein folding or asteroid tracking 

Correct Answer: A 
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